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Ly RS HOT) | By | EMeHT) | R R 445 (JT)
ALy 450000 Zi N+ 1000 PR 1000
SN G B A PR A BT 200000 =25 1000 X1 By 1000
X BN A A S R 2 EREES 1000 LI 1000
W SR 150000 o 1000 XN 1000
R 100000 L 1000 PG 1000
R R4S 73400 Pt R 1000 X% 5 1000
BER G 50000 FHF 1000 HH 75 1 1000
T AL 7 S A B ) 40000 THE 1000 Tr4EH 500
AR 30000 X Fx 1000 Cisdif 500
SRR 20000 sk e 1000 TERREE 500
NS Sny iy, 15400 Wit 1000 X 500
PGS 10100 i 1000 5k 5 500
pSUIE S 10000 [ 1000 WA 500
ZONL 10000 & W 1000 MR/ INE 500
KB 2BE 1993 HAs 5900 Fiat 1000 THR 500
PNl 5000 ZHRE 1000 R 500
Bte 5000 kLT 1000 oy =3 500
7 5 Sk AA B 2014 GUARRL 4500 BEE e 1000 77 500
BB 1994 G 2018 HH S 1000 TR i 500
WALE BH s 2000 W% 1000 > 7Kk E 500
XI55 4K 2000 Wi 1000 THEZ 500
¥ 2000 P& 1000 W /INEE 500
SR 1978 kK 1400 5K 7S 1000 X7 500
Bf5 2017 Jmselb g 1840 B SN 1000 X147 ] 500
PURKAE (M4 ) 1001 Tk 1000 BT AE 500
PR FR 1984 4R i 1000 AR 1000 sk 500
PEIR2ERBE 2004 A A 1000 T E R 1000 o 500
K AR 1000 ThER 1000 P2 500
ZESL 1000 &5 1000 kg 500
ik 1000 BESRHE 1000 (UNEESH 500
Hi 1000 W& 1000 20 500
[iB =% 1000 (s 1000 ZERE 500
x E 1000 ViR 1000 BT AE 500
Q7! 1000 AR 1000 A 500
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Ei=Ll BWMEHOD | B | BMEEo | BT |[REemoD | BT | MmO
I 500 sk 200 FHTE 100 it oal 100
SETABE 1993 AR 500 ATE 200 Zigt 100 Frffite 100
® % 346.6 | sunsam([4%4) 200 2K 100 St 100
B 1984 e K 318 LI 200 Wi 100 T 100
F A 300 F 200 INEFN (M4 100 —hRK(F4) 100
R 200 EREE 150 sk 100 TEE 100
T 200 Z Nt 110 LErRvAEAN 100 Kot 100
P 200 TKARAE 100 PN Ife 100 e 100
oAE 200 T 100 (S} 100 S 100
ZEW = 200 T # 100 Mt 100 2% 100
XN 200 KA 100 IK/NEE 100 1SS (] 100
HARTT 200 K 100 BRE 100 #Holi 100
W 200 EARL 100 HHRAE 100 FHEdh 100
skAGHE 200 B0 100 2 i 100 = 50
ol 200 FH 6 71 100 W 100 TR 50
A EY 200 X1 i - 100 I B 100 KR 50
A 200 FIE 100 X|EZ 100 i PR 50
T 200 A 100 A 100 * R 50
A1 FH 200 ) 100 BB 1980 bk 100 ] 42
EHA 200 A 100 X R 100 TR (M) 20
4 200 T 100 ERT)E 100 PN 20
S 200 WO 100 g 100 W 20
X SCH 200 WkiZERE 100 NN 100 ZO Nt 20
Zz= A 200 AL 100 TR 100 TS 20
NS 200 = 4 100 PR 4 100 kMg 20
TRZEW, 200 = A 100 JIREURES 100 A 20
water( 44 ) 200 [ Sy 100 HEA 100 Zi Nt 10
VI 200 F 2% 100 J7 4 100 Fl N 10
FEHIAN 200 VFSLH 100 DN N 100 et 10
Miss.Dove( F4% ) 10
X2t 200 o N+ 100 Sl 100
ik A 10

(b Frad % &, REERHCG A, 75 )
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